Ne ApTHUKYI HamMeHOBaHME Koxn
1 |02-950-001 IBuraresbr B cbope 1
2 102-950-002 BonT kpenjieHUs IJIyWUTeJis 2
3 102-950-003 [IpokJjlamka ITJIYWUTEJIS 1
4 102-950-004 IIymnmTesb 1
5 |15-188-001M [IlpoBka TONIMBHOTO Oaka 1
6 [02-950-006 BcraBka 1
7 102-950-007 OUIIBTP TOIJIMBHEIL CeTKa 1
8 Bomr M6x12 2
9 IlJIaHT TOIJIMBHEIN 1
10 Baxum 2
11 |14-168-10B KpaHUK TOINJIMBHEIN 1
12 |02-950-012 Bak TONJMBHHMI 1
13 KoJp110 yIJIOTHUTEJILHOE 2
14 102-950-014 Pyuka 1
15 larba 2
16 llamba 2
17 Boyr M6x18 2
18 Boyr M6x14 2
19 |02-950-019 Pozerxka 12B 2
20 [02-950-020 BHIKJIIOUATEJIb 2
21 Bosr M6x16 3
22 |02-950-022 Kprlllka T'eHepaTopa 1
23 Boyr M6%x25 2
24 101-950-072 Bubporacuresb 4
25 Boyr M6x8 2
26 |02-950-026 KpelnbuaTka 1
27 102-950-027 Tarka M10x1.25 1
28 Porop cranbHOM (r.100) 1
Porop uyryHHEM (11.100) 1

29 |02-950-029 Bomr M5x25 2
30 CraTop uyr.saxopb (m.100) 1

Mogpernb
T'enepaTop 6eHBMHOBHM DPG1201i

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
31 [pyxmnHa 1
32 [IpoxkJjiamka 1
33 KapbopaTop 1
34 [IpokJjlamka 1
35 Bosnr M4x16 1
36 |02-950-036 Kppika ¢unbTpa THo 1 1
02-950-036A Kpriika ¢uIbTpa THUI 2 1
37 |02-950-037 OuIbTP BOBIYIIHEBIL 1
38 |02-950-038 BoaT M6x60 2
39 [IpokJjlamka 1
40 |1101-0950-0142 InaTra Tun 1 1
1101-0950-0142-2 |IlnaTa Tuo 2 1
100 |02-950-101 T'eHepaTop (AKOPB YWyI.) 1
Monmerib
T'enepaTop 6eHBMHOBHM DPG1201i
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




71

Ne ApTHUKYI HamMeHOBaHME Koxn
1 |01-950-001 KapTep JjieBas MOOJIOBMHA 1
2 101-950-002 Kaprep mnpaBas [OJIOBMHA 1
3 6004 nomumnHauk 6004 2
4 101-950-004 Kosnbpllo CTONOPHOE 1
5 ]01-950-005 CanbHuMk 20x30x7 2
6 [01-950-0006 Brynka 2
7 101-950-007 CanbHUK 1
9 |01-950-009 BosT 2
10 |01-950-010 lnuiexa 2
28 |01-950-028 [IpokJylamka UUIJIMHIPA 1
29 [01-950-029 uamMHOp 1
30 |01-950-030 [IpokJjlagka IT'OJIOBKM 1
31 |01-950-031 T'ojloBKa UMIMHIPA 1
32 |01-950-032 Boat 2
33 |01-950-033 T'alika KpeIJIeHMs UMIMHIOPa 2
71 CBeua FLTC, NGK BRSES 1
72 101-950-072 Bubporacuresb 4
* 101-950-000 Habop npokJjalok
Mogpernb
T'enepaTop 6eHBMHOBHM DPG1201i

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
21 |01-950-021C KosleHBaJl nJis CTajlbH. 1
poTopa
21 |01-950-021T1 KomeHBas mJjisa 4uyTyH. 1
poTopa
22 |01-950-022 Kosbllo CTONOPHOE Iajblia 2
23 |01-950-023 [lajylely NOpHHSA 1
24 |01-950-024 [IOOWMIHUK MI'OJIbYaThIN 1
25 |01-950-025 [lopmeHs B cHope 1
26 |01-950-026 Kosnbluo nopmHeBoe B Habope 1
41 |01-950-041 Tarika MaxoBMKA 1
Mogpernb
T'enepaTop 6eHBMHOBHM DPG1201i
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 4




20

Ne ApTHUKYI HamMeHOBaHME Koxn
11 |01-950-011 [ImacTuHa peryisaTopa 1
12 |01-950-012 Ban perymnsaTopa 1
13 |01-950-013 [IpyxnHa ©60JiTa peryidaropa 1
14 |01-950-014 Bunka peryJsasaTopa 1
18 |01-950-018 BryJsika peryJjsTopa 1
17 |01-950-017 Priuar peryndaropa 1
19 |01-950-019 [IpoTMBOBEC PperyyaTopa 1
20 |01-950-020 BonT perymnsaTopa 1
54 |01-950-054 Tsara peryJjsaropa 1
55 |01-950-055 [IpyxMHa per. Majas 1
56 |01-950-056 [IpyxMHa per. OoJblasa 1
Mogpernb
T'enepaTop 6eHBMHOBHM DPG1201i

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 5




Ne ApTHUKYI HamMeHOBaHME Koxn
34 |01-950-034 Kprllka LUMIMHIPA 1
42 |T95010 Craprep B cbBope 1
* |T95010-RK PeMKOMIIJIEKT CTapTepa
Mogpernb
T'enepaTop 6eHBMHOBHEM .
paTop DPG1201i
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
43 101-950-043 [IpokJlamka TeIJIOM30JIaTopa 1
44 101-950-044 TerJon30JaTop 1
47 |101-950-047 [IpokJjlamka kapbopaTopa 1
48 |01-950-048 KapbopaTop 1
49 101-950-049 [IpokJjylamka kopnyca B 1
Mogpernb
T'enepaTop 6eHBMHOBHM .
paTop DPG1201i
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 7




70

Ne ApTHUKYI HamMeHOBaHME Koxn
36 |01-950-0306 MarHeTo OOJbIIOM OJIOK 1
40 |01-950-040 MaxoBUK 1
41 |01-950-041 T'alika MaxoOBMKa 1
70 |01-950-070 MarHeTo MaJbli OJIOK 1
MonmeJsib
T'enepaTop 6eHBMHOBHM .
paTop DPG1201i

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




